
७ नं वडा कार्ाालर्को आ.व २०७५।०७६ को ववननर्ोजित बिेट
qm=;= आयोजना/काययक्रम नाम आयोजना 

स्थऱ

विननयोजजत 
रकम

काययन्ियन विनि ऱाभाजन्ित 
जनसंख्या

कैवियत

!= s[ifs ;d'x u7g tyf gljs/0f j8f e/L २५००० sfof{no ^&%

@= kz' tyf klIf+kfng ;d'x u7g tyf gljs/0f j8f e/L २५००० sfof{no $%)

#= %)Ücg'bfgdf s[ifs ;d'xdf  kmnkm'nsf lj?jf ljt/0f-;'Gtnf,sfutL h'gf/,cFu'/ / cgf/ ljljw_ s[ifs ;d'x ६०००० sfof{no $  ;d'x 

$= kz' k|ljlw x:tf0q0f -gZn;'wfl/Psf] af]sf ljt/0f # j6f ,knfli6s l8lkª 6\ofªsL # j6f _*)Ü 

cg'bfg

j8f e/L १२०००० sfof{no  $)) 

%= s[lif k|ljlw x:tf0q0f -kfj/ l6n/ # j6f ,sG;n/ ,:k|]o/ d]lzg ( j6f s[ifs ;d'x ३५०००० sfof{no #%) 

^= sfo{zfnf uf]i7L -cu'jf s[ifs,cu'jf kz'kfns ,s'lif tyf kz' k|fljlws / hgk|ltlglw ljr 

;dGjofTds j}7s tyf tlnd _

j8f e/L १००००० sfof{no #% 

hDdf ६८००००

!= ufFp3/ lslNgs ejg lgdf{0f kf]v/8fF8f kf]v/8fF8f ३००००० pkef]Qmf ;ldlt  @))) 

@= j8fe/Lsf ufFp3/ lslNgs Joa:yfkg १५०००० sfof{no  $)))

#= lszf]/sLzf]/L lzIff tyf afnaflnsf sf] Zjf:Yo kl/If0f १००००० sfof{nn  ^)) 

$= >L afn sNof0f gd'gf cf=lj= 9f]/]gL lkmN8 lgdf{0f cf=lj= 9f]/]gL २००००० pkef]Stf ;ldlt २००

%= lj/]Gb| df=lj= ufª 3]/faf/ df=lj= ufª २५०००० pkef]Stf ;ldlt ४५०

^= uf]ljGb df=lj= b'Dnf lkmN8 lgdf{0f df=lj= b'Dnf २५०००० pkef]Stf ;ldlt %)) 

&= sfo{zfnf uf]i7L -k|=c= ljifout lzIfs ,lj=Jo=;=sf k|ltlglw ,hgk|ltlglw ljr ;Dks{ ;dGjo 

j}7s tyf tflnd _ 

j8f e/L १००००० sfof{no %)

*= cf]v/u}/L wf/f vf=kf=of] kfOk vl/b wf/f १५०००० pkef]Stf ;ldlt !))

(= gf/L lbj;-b'Dnf,u}/LufFp ,ltnf ,/fDdL 9f]/]gL_ ४०००० ;]jf kbfos ;+:Yff %)) 

!)= j8f e/Lsf vf=kf=dd{t of]hgf j8f e/L १५०००० pkef]Stf ;ldlt %))

!!= cf]v/u}/L ;f/wf/f vfg]kfgL of]hgf ;f/wf/f १५०००० pkef]Stf ;ldlt !))

!@= tf/fvf]nf 7'nfplQ; be}{ vfg]kfgL of]hgf be}{ १५०००० pkef]Stf ;ldlt 

!#= j8f :tl/o ljBfno ;'wf/of]hgf lgdf{0f tyf j8f g+ & df cfwf/e't lzIff / ljBfno egf cleofg j8f e/L १००००० pkef]Stf ;ldlt २००

!$= ;'rgf k|;f/0f tyf ;fj{hlgs ;'g'jfO{ sfo{qmd j8f e/L ५०००० sfo{no ३०००

!%= afnljsf; sIff Joa:yfkg z}lIfs ;fdfu|L !) j6f 

jfnljsf; s]Gb|

२५०००० sfof{no २५०
२३९००००

१ 5fkg]6f ;Nn]/L ,rf]/sf6],ahLafª,le/af6f,xDkf jon s[lif ;8s lgdf{0f tyf dd{t of]hgf २५०००० pkef]Qmf ;ldlt u7g 

u/L sfd ;DkGg ug]{

%))

२ ]ahLafª,le/af6f,xDkf jon s[lif ;8s lgdf{0f tyf dd{t of]hgf २५००००
३ xDkf jon s[lif ;8s lgdf{0f tyf :tf/f]GgtL ३०००००
४ 5Dkf,;'gf/L ,kf]v/8fF8f,b]pafª ;8s ४०००००
५  kf]v/8f8fF b]jfª 7'nf]kf]v/L  ;8s ४०००००
६ ltnf sfpn],k|f=lj=/fgfufFp df]6/ af6f] of]hgf ltnf 

sfpn],k|f=lj=/fgfu

८००००० pkef]Qmf ;ldlt u7g 

u/L sfd ;DkGg ug]{

^))

७ ;fpgLvf]nf,k|f=lj=d'nkfgL, hf]8\g],s[lif ;8s /fDdL  २२२००० pkef]Qmf ;ldlt @))

८ j8f g+ & e/Lsf ;8s dd{t of]hgf j8f g+ & e/L 

sf ;8s x?df 

६१५१२० pkef]Qmf ;ldlt 

३२३७१२०

 -3_ jg jftfj/0f tyf ljkb Joj:yfkg

१ kfgL3f6 sNe6{ lgdf{0f of]hgf kfgL3f6 sj/ufFp १००००० pkef]Qmf ;ldlt !@% hgf 

२ lqj]0fL be}{ vf]nf sNe6{ lgdf{0f of]hgf lqj]0fL be}{{vf]nf 

3f6

१००००० pkef]Qmf ;ldlt #)) hgf 

३ ;fndfhf ,bxsNe6{ lgdf{0f of]hgf bx 3f6 १००००० pkef]Qmf ;ldlt @%) hgf 

४ kmf]xf]/ d}nf tyf ahf/ Joa:yfkg -;8s aQL Joj:yfkg,sG6]g/ kmf]xf]/ /fVg] vfbn,9n lgsf; 

,;fj{hlgs ;'rgf kf6L lgdf{0f _

१००००० jhf/ Joa:yfkg 

;ldlt 

!))) hgf ahf/ 

af;Lx?४०००००
 -ª_ z';f;g tyf ;+:yfut ljsf;

१ j8f sfof{no dd{t Joa:yfkg k|ljlw vl/b -sDKo'6/ ,lk|G6/_;fj{hlgs ;'rgf k|jfx sfof{no १३६८८० sfof{no 

िम्मा १३६८८०

कुऱ जम्मा ६८४४०००

%))

िम्मा

सामाजिक ववकास 

hDdf

िम्मा

  -u_ k'jf{wf/ ljsf;

pkef]Qmf ;ldlt u7g 

u/L sfd ;DkGg ug]{


